
Document #101-0103	 	 	 	 	 	 	 	 	 	 	 	 	 12/3/02

Seiko Printer (SAM-1245) Installation Instructions

1.	 Disconnect power.
2.	 Remove printer hole cover.
3.	 Route Lexan face using the existing cut-out on door as a template.
4.	 Mount face plate with (2x) ball studs and (2x) #8-32 nuts supplied.
5.	 Mount printer chute with the same (2x) ¼-20 nuts removed with printer hole cover.
6.	 Mount printer assembly to existing studs in the upper right corner of cabinet with (2x) 

#10-24 nuts supplied.
7.	 Connect harness from printer assembly to #9 connection on the distribution pan.

(2X) #10-24 NUTS

(2X) #1/4-20 NUTS

(2X) #8-32 NUTS
PRINTER CHUTE

(2X) BALL STUDS

PRINTER FACE PLATE

PRINTER ASSEMBLY

PRINTER HARNESS

CONNECTOR #9 

DISTRIBUTION PAN


